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It’s only numbers!

Part of any Business Studies will involve Accounts and therefore some number work. It is NOT complicated but some do see it as something of a challenge. Let’s see if we can simplify it a little.

Some stimulus material

Just what do we mean by costs was the question that came from the mouths of many gathered at yesterday’s meeting of the team administering the football club. It seemed that few could tell they’re fixed from their variable. So, one of the number put up a simple flip chart diagram-it read as follows: Output and time – Costs over any period of time will be either fixed, that do NOT change with output, or variable which DO change with output. The total costs for the firm are the Fixed +Variable. Companies monitor costs over given periods of time, as these differ we generalise and call them short, which is when the scale of the organisation cannot be changed, so a new factory cannot be built. Any increase in output will have to come from spare capacity, if we have it. The long run is when the entire scale of the operations can be altered.  So, a new factory could be built.

The costs that relate to a product are divided into DIRECT and INDIRECT. Direct are those costs which can be directly related to a specific product, whilst indirect cannot. We sometimes call indirect costs OVERHEADS. The total costs of producing something are its direct + indirect costs.

Buy selling goods we earn revenue and when revenue exceeds costs a PROFIT emerges. Profits have more than one use and we need to look at one of the most important, namely CONTRIBUTION. This means how much each unit of sale of a product will contribute something to meeting the fixed costs of the company. This is normally expressed as:

Contribution per unit = selling price –direct costs per unit. Once we know this we can use a simple tool called a break-even analysis. This calculates the minimum number of sales we need to make in order to cover our costs. 

The theory

At zero output you still have incurred costs, so you are making a loss. For each item you make you earn some revenue but it will also incur costs. If we take the price we charge for each unit of sales and deduct from it the direct costs incurred in making it we can see how much of a contribution to covering fixed costs the unit of sale has made. So, if we sell for £10 and the direct costs are £8 per unit the product makes a contribution of £2 per unit of sale. The total contribution is the contribution per unit x sales. So, if our company sold 2000 items with a £2 contribution per unit it would have generated £4000 towards fixed costs and profits.

We calculating a break-even analysis we make several assumptions. These are: the selling price does NOT alter with volume, fixed costs remain the SAME regardless of output and that variable costs vary in direct proportion to output.

So, if a product sells for £10 and has £4 of direct costs its contribution will be £6 per unit of output. If the firm’s fixed costs are £36000 then the break-even output will be



£36000



£10-£4 = £6   = 600 units

Break-even Is the Volume Where All Fixed Expenses Are Covered


You will start a break-even analysis by establishing all the fixed (overhead) expenses of your business. Since most of these are done on a monthly basis, don’t forget to include the estimated monthly amount of items that are normally paid on a quarterly or annual basis. With the semi-variable expense (such as phone charges, travel, and marketing), use that portion that you expect to spend each and every month. 

For the purpose of a model break-even, let’s assume that the fixed expenses look as follows: 

	PRIVATE
Administrative salaries
	£1,500

	Rent
	800

	Electricity
	300

	Insurance
	150

	Taxes
	210

	Telephone
	240

	Car Expenses
	400

	Supplies
	100

	Sales and marketing
	300

	Interest
	100

	Miscellaneous
	400

	Total
	£4,500


These are the expenses that must be covered by your gross profit. Assuming that the gross profit margin is 30 percent, what volume must you have to cover this expense? The answer in this case is 15,000—30 percent of that amount is £4,500, which is your target number. 

The two critical numbers in these calculations are the total of the fixed expense and the percentage of gross profit margin. If your fixed expense is £10,000 and your gross profit margin is 25 percent, your break-even volume must be £40,000. 

This Is Not a Static Number
You may do a break-even analysis before you even begin your business and determine that your gross margin will come in at a certain percentage and your fixed expense budget will be set at a certain level. You will then be able to establish that your business will break even (and then go on to a profit) at a certain level of sales volume. But your pre-start projections and your operating realities may be very different. After three to six months in business, you should compare projections to the real-world results and reassess, if necessary, what volume is required to reach break-even levels? 

Along the way, expenses tend to creep up in both the direct and indirect categories, and you may fall below the break-even volume because you think it is lower than it has become. Take your profit and loss statement every six months or so and refigure your break-even target number. 

Using the break-even figures as a management tool

Ways to lower break-even
There are three ways to lower your break-even volume, only two of them involve cost controls (which should always be your goal on an ongoing basis). 

1. Lower direct costs, which will raise the gross margin. Be more diligent about purchasing material, controlling inventory, or increasing the productivity of your labour by more cost effective scheduling or adding more efficient technology. 

2. Exercise cost controls on your fixed expenses, and lower the costs you have to pay... Be careful when cutting expenses that you do so with an overall plan in mind. You can cut too deeply as well as too little and cause distress among workers, or you may pull back marketing efforts at the wrong time, which will give out the wrong signal. 

3. Raise prices! Most entrepreneurs are reluctant to raise prices because they think that overall business will fall off. More often than not that doesn’t happen unless you are in a very price-sensitive market, and if you are, you really have already become volume driven. 

But if you are in the typical niche-type small business, you can raise your prices 4 to 5 percent without much notice of your customers. The effect is startling. For example, the first model we looked at was the following: 

	Volume
	£15,000

	direct cost
	10,500
	70%

	gross profit 
	4,500
	


Raising the prices 5 percent would result in this change: 

	Volume
	£15,750

	direct cost
	10,500
	67%

	gross profit 
	5,250
	


You will have increased your margin by 3 percent, so you can lower the total volume you will require to break even. 

The Goal Is Profit
You are in business to make a profit not just break even, but by knowing where that number is, you can accomplish a good bit: 

You can allocate the sales and marketing effort to get you to the point you need to be. Most companies have slow months, so if you project volume below break-even, you can watch expenses to minimise losses. A few really bad months can wipe out a good bit of previous profit. Knowing the elements of break-even allows you to manage the costs to maximise the bottom line. 

Some questions

1. Define the terms fixed costs and variable costs.

2. What assumptions do we make when calculating a break-even chart?

3. How might we lower the break-even point of a company?

4. Why might the type of market you operate in influence the price you can charge?

Some suggested answers

1. Fixed costs are those that do NOT differ with changes in production or output. Variable costs do change as output alters.

2. The assumptions we make when calculating a break-even analysis are (a) that the selling price does not alter as volumes change. So, we do not offer discounts, or different prices to different customers, (b) that fixed costs remain constant as output expands, meaning that no economies are gained as volume increases and (c) that variable costs vary in proportion to output, so no economies are gained as we consume more or less.

3. A company might lower its break-even point by examining ways of reducing direct costs, say by negotiating anew deal on essential parts or materials, or by cutting fixed expenses – this might be by using sub-contractors, or by raising prices and that will require you to think about elasticities!

4. If you operate in a market where there are a number of competitors, who are making similar products to yours then you might not be able to move your price around as much as you would like. You operate in what is known as elastic, or price sensitive/responsive market. So, you will need to keep a watch on your costs and the actions of your rivals. If your market is fewer prices responsive then you might be able to alter prices and not see your demand fall by a large amount. This type of market is known as an inelastic market.

Hopefully, you are beginning to note how Business Studies is inter-related and that the various sections you cover do fit together. 

